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Nota 23.5 - programma

postscript (’../ps/2305.ps’ ,width=2,height=4,
horizontal=FALSE,onefile=FALSE,paper=’special’)

domx=c(0,26) ; domy=c(0,52)
par (bg="yellow’,cex=0.5,mai=c(0,0,0,0))
plot (domx,domy,type=’n’,xlab=’’,ylab=’"’,asp=1,axes=0,frame.plot=1)

for (k in c(14,28,36,44)) abline(h=k)
t=seq(-2*pi,10%pi,by=0.01)
lines(48i+(t-sin(t))+1i*(1-cos(t)))
text (13+45i, ’Cicloide comune’)
lines(39.5i+(t-1.5*sin(t))+
1i%(1-1.5%cos(t)))
text(13+371i,’Cicloide allungata’)
lines(31.5i+(t-0.6*sin(t))+
1i*(1-0.6%cos(t)))
text (13+29i,’Cicloide abbreviata’)
lines(3.5+21.5i+0.75%(5*cos(t)-cos(5*t)
+1i*(5*sin(t)-sin(5*t))))
text (13+15i, ’Epicicloidi’)
lines(13+21.5i+0.75% (5%cos(t)~
1.5%cos (5*t)
+1ix (5*sin(t)-1.5*sin(5%t))))
lines(22.5+21.5i+0.75%(5%cos(t) -
0.6%cos (5*t)
+1i*(5*sin(t)-0.6*sin(5%t))))
lines(3.5+7i+3*cos(t)+cos(3*t)
+1i*(3*sin(t)-sin(3*t)))
lines(13+7i+3%cos(t)+1.5%cos(3*t)
+1i*(3*sin(t)-1.5%sin(3*t)))
lines(22.5+7i+3*cos(t)+0.6*cos(3*t)
+1i*(3*sin(t)-0.6%sin(3*t)))
text (13+0.51, Ipocicloidi?)




